EAGRAROBREERT — 2 N— ABISH —F 202047148 (K 1E£R4B

Nl S%—# C17 EEE R
[x&4£] 1% :270,000™ ~ 23#%&:7500M”  3#%&:37,000M  43%&:27,00MH . 573%&:21,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. N . 11— _ I 3
ilglg|lorvrvazns 4 9 f?&ﬂ?& 1.(3_8).6 2-1-1-1 | 40.2 1 ;1_952) ﬁg?&%lﬂ(ﬁg)
RiFATATv— BAHIHITS Eatie
f o A 4 4 | BLURF 1:38.6 6-7-2-2 [39.6| — 3 21 | BERZ (£R)
] 4 hZX2yiril)— 56.0 (7€) () |HEE
R:N—YI54 B:a> 4547 Eliztve]
N . HFEAX : 44— — £H—8 (£R)
slgle| Aty sz -2 41 o 1.(47o>.1 4-4-4-3 | 40.7 2 ig)z i
R:F 4 —TALNT b BiO—XE— ke
; > 7 | BALA 1:40.2 1-2-3-3 |41.1| — 4 457 | BiERZ (£R)
4 6| Ev L3I - 56.0 (1/2) © #) 77— NETa
4o B:77)YI—-va> H—L— - JvX> - T7—LARS
— N £ =% . A A _ = 3
5 2 | TIVRT I3 # 6 gg?g% 1(.14/%3 8-6-6-5 | 40.4 8 (5369) gg}gz (&R)
RBATATv— B:voT—FI714FhF HE77—»4L
- T Fre=rram 41 86 8| — REREZ (&R
elol 7| T-nrL> R T | T s M
L:ZgrT M —T7—K=K B:e17>7hHx10 FRBAS
. B . 0_0_ _ — B
7011 | PIVFr—N)a— o8 | AKX e 9-9-9-8 | 40.6 7 (5215) gﬁgﬁm (&iR)
R:F4—TZh4 B:HNVFrv—byT SZvae]
RELE . _4r_ — 2R (2R
8 NEPES it 4 it 1(.14/12.)3 4-4-5-7 | 41.7 6 <4+913; (&
R:/GTUXN B:T7AVH—F SZvae]
N o FRAFA 143. 3-8~ . — BEERE (£R)
9l5l5|7HaETR i o N IR AR P | B
I Lt—914F— B:777—kX PIBI4 5
@ I—F—@EBIERL
|3=7r= 6,8,5,(3,9),4,7,2,1
23—5+— |[8,6,5,(3,9),2,4,7,1
== 8,4,6,9,3,(2,7),5,1
43—+ — 8,4,(6,9),(2,7),3,1,5
[ N
B 8 130M 794K 4-8 150 & 4-8 300M &R 4-8-9 300M
# B 8 100 8-9 130M B 8-4 420 EE 8-4-9 1,060
4 120 4-9 250M B = 4-8 380M
9 110M B H 8-4 4804

ARICOVWTRDTEEERROODE. TR LI,



